BREMHRRETEHIE (FRMS) hik THTE 9A 20H (&)
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o & B &t E i = & b fE z B £ B

m B = R O%

() ART=®) (M) (M) (M) (kg)

WA 215 JtiEE 20.0 1,728 — 1,296 10 Va9 M
LA 5 & 15 - 1,296 — 0] A LL
IZALA 9.6 JtiEE 8.7 - 162 — 0] A 25
IZALA f = 0.8 1,296 — 1,188 10 L
ES) 1.1 5 & 0.6 - 3,564 — 10 M
ZIx5 BRE 0.5 1,620 1,404 1,296 2l A LL
[E<E0LY 23.6 £ % 22.6 2,808 1,728 1,728 150 A 6
HTE 1.3 2 [ 0.9 2,592 2,160 1,944 4f A L
ZEDOH 7.9 BERE 4.8 2,376 2,160 2,052 4f A M
Fry 96.9 B E 93.3 1512 1,080 864 10 Va9 8
Fry 2 [ - 194 — 005] A L
IE5NAZES 15 = I 0.1 281 — 270 0.2 A M
RE 49 JtiEE 3.8 3,888 2,268 2,268 5
Ch¥ 1.7 2 [ 0.8 4860 3,888 1,620 3l A M
125 2.1 = I 0.9 5,400 4,860 4,590 5/ A M
t+)L1)— 1.6 & % 1.6 3,240 1,080 1,080 10 A LL
FRINGHR 1.5 = B 0.2 — 108 — 0.1 L
LA 43.4 E % 42.8 1,782 1,522 1,188 10 A 12
LA 12 [ 0.3 864 — 648 4 A L
For YA 1.3 BRE 0.6 2,808 2592 2,376 4f A L
=5l 19.1 BRE 1.0 1,944 1,620 1,620 5/ A L
=p5Y B K 12.3 2,592 1,188 1,188 5
ANESSED) 8.5 BRE - - - PR
ANESSES) JtiEE 8.5 2,700 1,728 1,728 10 vay 7
7y 6.8 BRE 15 — 1,080 — 5/ A L
Y = I 0.9 756 648 540 5, D M
k< 26.1 EES 14.0 3,564 — 3,240 4 vay M
el X & 10.1 3,240 3,024 2916 4 B 20
=k 6.6 EES 28 270 248 216 02| vay M
Rl 4 X & 1.9 3,888 3,780 3,240 3 M
E—<> 7.6 X & 3.9 109 109 81 0.15 A M
E—<> BRE 1.3 5,400 - 5,184 0] A LM
E515CL JtiEE - 9,720 - 0] A 30
T35 5.9 BRE 5.9 81 43 32 0.1 A M
[ZA5Y 2.2 BRE 1.7 1512 648 540 3l A M
SPVAITFA 0.5 BRE 0.4 — 108 — 0.1 A
MALE 4.1 EEES 1.9 2,700 — 2,376 5/ A L
MHALE B A 2,052 1,296 1,296 5/ A S
[E€ AT 13.4 JtiEE 9.9 1,296 1,296 1,080 10
[ECTRYNS 5 35 — 1,080 - 10] vay M
IEhi s T & - 864 — 10 vay S
=L 0.8 BRE 0.6 — 2,160 - 0] A LL
hLE 0.8 JtiEE 0.8 — 3,888 — 10 C LL
f=Fh&E 53.5 dtiEE 51.3 - 3,564 - 20 La4
f=FhE JtiEE 1,296 — 540 10
f=FEh&E h = 1.2 2,376 1,836 1,836 20 L4'4
A1z 1.4 th FH 1.0 5,400 4212 4212 10 4L
ELLV=T 1.5 BERE 0.1 — 108 — 0.1 M
HELLV=IT E 15 0.5 - 173 - 0.25| M M
ZDEET 5.7 E I 3.6 38 30 30 0.1 A
LHL 2.3 2 [ 2.2 97 70 65 0.2
ESES T 402.3
B=

o fm B & E i = E hfE =7 & £ B
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() ATT=®) (M) (M) (M) (kg)

BMAHMAEE 7.9
LEY 2.7 F Y 0.4 7,020 7,020 4,860 17 115
INLUST 2.1 = M 2.1 7,344 2,160 2,160 17
L7y 0.3 m72Y 0.3 5,184 4968 4320 15 45
YATE 14.8
2B 12.0 5 & 10.7 - 5,184 — 10
HA%LE 22.8
2k 48 2 [ 2.3 - 329 — 0.5 40
—tid#e 0.2 B W 0.2 — 4,536 — 10f 32
ZTDMEL 17.3 g @ 7.8 - 4860 — 0] ¢ 4L
3HET 1.9
% 1.9 & % 1.7 4,320 — 3,780 5[ vay 13
FTHHE 0.2
EE%S 0.1 & % 0.1 432 — 410 04| vay 3L
TIL— 0.1 £ % 0.1 — 378 — 04| Mty 5
SESE 6.9
Big 2.1 £ B 1.7 616 616 540 0.35] vay 1
EA—* 0.9 = I 0.4 - 3,888 — 4 6
A)—A 0.1 EES 0.1 346 — 324 03[ 7hv2 LL
AOVEF 0.5
7—IJLR 0.5 EES 0.3 5,400 4,860 4,320 8| #93 3L
ZoMAOY JeiEE - 7,020 — 8 5
INFF 16.7 EYEY 16.4 5,584 3,791 3,285 15
NAFyFTIL 4.8 EYEY 4.8 3,456 3,024 2,430 10 8
FoA4T)LY 1.1 —oT 1.1 2,808 2,592 2592 4 33
RERET 87.2




